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QUESTION 1

What does a circle with an X in it (as depicted in the exhibit) represent inside UML 2.0 activity diagrams? 

A. flow final nodes 

B. merges 

C. decisions 

D. activity final nodes 

E. forks 

F. initial nodes 

G. joins 

Correct Answer: A 

 

QUESTION 2

What is the notation for gates? 

A. circular disc at the interaction frame 

B. small arrow either into or out from the fragment frame 

C. point on the fragment frame with an optional name 

D. small rectangle on the fragment with associated name 

Correct Answer: C 

 

QUESTION 3

Which list contains only connectable elements? 
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A. behavior, connector end, and port 

B. behavior, port and property 

C. port and connector end 

D. connector end, port and part 

E. property, port, and parameter 

Correct Answer: E 

 

QUESTION 4

What represents the deployment target of a deployed artifact? 

A. the location of the deployed artifact 

B. a shared aggregation relationship 

C. a node instance, but never a property instance 

D. the deployed artifact\\'s output data stream 

Correct Answer: A 

 

QUESTION 5

How many arrows can connect to a partition? 

A. any number 

B. none 

C. two 

D. one 

Correct Answer: B 
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